ELECTRICIAN GENERAL




FILING EXERCISE |

=P

Flat filing

MARMING EXERCISE

Flat fileng, maotking &
cenlin punching

' —

2 —_—

STRETCMING EXERCISE

Filing, marking &
hammuring

FILING EXYERCISE Il

]

Flat-and square [iting

e )‘ —p—!_.

SAWING EXERCISE

||

£ 5

Sawing ,

Squate Tiling

=10

FOR INSIDE CALIPER

 E—
===A e L

Speciol Piling apsrotisns B

5 ——

FOR SHEET-METAL BOX

[

Marking, shesring, Tiing.

FOR DRILLING EXERCISE

[

Smonth-liling ace fo given

¥

dimanshons,

FOR RIVETING EXERCISE

i
-

Filing

T — 1k

B |

g ———T1

CHIPPING EXERCISE

=ik

Cross-and Tial
ehlanlling.

CHIFPING EXERCISE

)

Greevae chiselling
Chiagl regringing.

DRILLING EXERCISE

0

]
oo

Marking, deilling,
derll regrinding.

5 —= 10

e 12

—a |

B 13

RIVETING ENERCISE

.

Marking, drilling, riveting,

INSIDE CALIPER

—

Fillng @ce. le marking
tires, aasembling.

SHEEI-METAL BOX

14

Shaat - matal bending
and leiding.

§ == 14

==t 15

s 16

DRILLING EXERCISE
Yo W

&

Counter-buoring, reeming

THREAD BOLT

External thread culling ,

THE BASIC FITTING COURSE

IS THE SAME ONE AS FOR
THE METAL TRADES WITH THE
ONLY EXCEPTION OF LESS
EXERCISES. Nos 11 & 17 ARE

thisad ewiling, ferm tiling, DROPPED AND Mo 19 15 RE-
e 18 19E PLACED 8Y No SE
- No. 1.0.1
LAYOU BASIC /[ FITTING
N
DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING ELEZTRICIAN

PAK.-GERMAN TECHMICAL THAINNG #ROGRAMME

GENERAL




CLAMPING SCHEME

SEQUENCE OF OPERATIONS ;j E M

NO Symbol Tools Descriptions
e ﬁ !
FLAT FILE FLAT FILING UPTOD
300« 15t MARKING LINES l
1 STRAIGHT BAR
‘ FLAT FILE FLAT FILING UP TO
2 joox1 2 nd MARKING LINES
STRAIGHT BAR
FLATFILE FLAT FILING OF
300x1 BASE SURFACE
3 STRAIGHT BAR
SCALE - NO:— 1.0.1/01
e FILING EXERCISE e

DE VELOPMENT CELL FOR SKILLED LABOUR TRAINING
- Paw GERMAN TECHNICAL TRAINING PROGRAMME _




S

(7}

TOLERANCE «1

D

REFERENCE LINE

XX

77

83
.- 89

SEQUENCE OF OPERATIONS

‘ NO Symbol Tools ‘ Descriptions
—
= FLAT FILE FLAT FILING
1 250 x 1 OF
J STRAIGHT BAR SURFACE A
BACK SOUARE MARKING OF
2 SCRIBER ‘REFERENCE LINE
STEEL RULE MARKING OF
‘TISTANCE LINES
CENTRE PUNCH CENTRE PUNCHING
3 HAND HAMMER 250 g OF DISTANCE LINES

MAT : ST.37-1

MARKING EXERCISE

o= 101702

g - —
T —

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
; Pax-GERMAN TECHMICAL TRAINING PROGRAMME __

S ——




~ (VV) Tolerance + 0.5

- 70 — S SR S
SEGQUENCE OF OPERATIONS
No. Symbol Tools ! Descriptions
| —u—n —
] FLAT FILE FLAT FILING OF
1 LT‘;] 300 x | | 15t LONGITUDINAL
O STRAIGHT BAR SIDE
BACK SQUARE
2 STRATGHT BAR MARKING OF
SCRTHER OUTER DIMENSIONS
STEEL RULE |
" FLAT FILE FILING OF GUTER
3 0ok 1. 150 % 4 SURFACES ACC. TO
MARKING LINES
SCRIBER
4 BACK SQUARE MARKING OF MIDDLE
DIVIDER LINE AND RADII
WOODEN BOARD
5 CENTRE PUNCH CENTRE PUNCHING
HAND HAMMER 250 g DF RADII
HAND HAMMER CURVING OF THE
B STRAIGHTENING PLATE MATERIAL
STHAIGHT BAR
7 REPEAT OPERATION 6 ON THE 2nd HALF OF THE WORKPIECE.
DON'T USE FILES FOR CORRFECTION AFTER HAMMERING!
SCALE 1:1 ET m E RC[SE No. 1.0.1/GC8
STRETCHI A= —
MAT. MILD STEEL BASIC FITTING /.
DEVELDPMENT CELL FOR SKILLED LABOUR TRAINING - /
PAK GERMAN TECHNY AL THAINING | TOGRAMME - S
&




.

C ll 3 D
|
e o
1 A A
SEQUENCE OF OPERATIONS
,| NO Symbol Tools Descriptions
i i FLAT FILE FLAT- AND SQUARE
1 /A 3 | 300x1;250%1 FILING OF 1st
\ | TRY SQUARE FLANGE B
BASE SURFACE
=REFERENCE SURFACE 1
G FLAT FILE FLAT AND SQUARE i
260 x1; 2001 FILING OF 1st -FACE '€
2 TRY SQUARE REFERENCE SURFACE
WOODEN BLOCK =LLB
: VICE CLAMPS
o " FLAT FILE FLAT AND SQUARE
300 x1; 250 x1 FILING OF 2nd
3 |40 \| TRY sauare FLANGE ‘D’
VICE CLAMPS
= FLAT FILE FLAT AND SQUARE
250 x1 , 200x1 FILING OF 2nd
4 | TRY SQUARE FLANGE 'E
WOODEN BLOCK
VICE CLMPS
FLAT FILE FLAT AND SQUARE |
1G] 300wt 250x) FILING OF FLANGES F .
5 Adp=====f /"1 TRY SQUARE -
VICE CLAMPS
SCALE 1:1 : NQ. 1.0.1/04
FILING EXERCISE 11 — e
MAT. of Ex. 01 BASICIFITTING

EVELOPMENT CELL FOR SKILLED LABOUR TRAINING

aw GEHMAN TFCHNICAL TRAINING PROGHAmUE




E0

3

XX

P

ik

e |

75

SEQUENCE OF OPERATIONS

SAW CUTS
~
1

TOLERANCE +1

et Ly fFF T

s o

Sher FFTRITT

pi Fi e

a s

NO Symbol Tools Descriptions
o ~ | = NOTCH ENDS OF MARKING
12 ) THREE SQUARE FILE LINES WITH THREE SQuAne
I 150x1 FILE. SAWING OF 1st AND
: HAND HACKSAW 2nd CUT AS SHOWN. ]
THREE SQUARE FILE SAWING OF 3rd CuT BY
2 150%1 CLAMPING THE WORKPIECE
HAND HACKSAW IN HORIZONTAL POSITION.
—— -
i FRAT FILES FLAT FILING OF
3 Joox1; 200x1 SURFACE '
-~ TRY SQUARE <
By FLAT FILES FLAT~ AND SQUARE
4 JoOox1; 200x] FILING OF
’jﬂ I ‘| TRY SQUARE SURFACE 'R',
*y el M FLAT- AND SQUARE
J0o0ox1l: 200x1
5 FILING OPF
TRY SQUARE ol il
VICE CLAMPS L ) i
REPEAT OPERATIONS 3, 4 AND 5 FCR SURFACES D, E AND F,
6 |PON'T CHECK WITE TRY SQUARE AND STEFL RULE, WHEN MATFRIAL
15 CLAMPED IN THE VICE! CHECK DIMENSIONS WITH OUTSIDE
CALTPER AND STEEL RULE.
SR 1 SAWING EXERCISE |0 l01/0%

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING

PAN-GERMAN TECHMICAL TRAIMING PROCHAWME

</




TOLERANCEL 03

st N B

24

155 —

Two pieces

SEQUENCE OF OPERATIONS

Descriptions

Na | Symbol Tools
e
SMDOTHING OPERATIONS,
SMOOTH=CUT FILE MATERIAL ALLOWANCE FOR
] ‘:H:? SMOOTRH FILING
0.1 To 0.2 MM,
1
:3331P1§§§,3 FLAT FILING OF lst
2 iy slulnf EROAD SURFACE.
vzau:gn T HOLD THE WORK ON A
WOODEN PIECE, NAILS | WOOPEN PIECE.
FLAT FILES =
3 Jooxl; 200%1; 250x3 | FEAT AND SQUARE
i By FILING OF -1st
VERNIER CALIPER LONGITUDINAL SIDE.
COMPLETE THE WORKX IN A SEQUENCE OF OPERATIONS AS DONE
L IN PREVIOUS EXERCISES. MIND SMOOTHING ALLOWANCE.
USE VICE CLAMPS: -
SCALE 11 NO-101/06
T e INSIDE CALIPER 1 e i

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING

Pak GERMAN TECHNMCAL TRAINING PROGRAMME

Nt

T




TOLERANCE :03

g F n.ip"f ol

160 -
20 —-—l
\ o~
T ST
o
~
1 =
.- X3
o
™
_/ 1 thick I —TN
|
100 ]
SEQUENCE OF OPERATIONS
Na. Symbol Tools Descriptions
FLAT FILE 200x3 FILING OF SIDES "A'
_r—— [ TRY SQUARE & 'B' IN WIGHT RANGLE.
1 'é\ STEEL RULE
s T HUAND VICE
3
LENGTH AND WIDTH MARKING
2 ) HARKING TOOLS MARKING OF THE SHAPE OF
; THE WORK.
SHEARING OF LENGTH AND
3 LEVER SHEAR WIDTH. SHEARING OF SHAPE
-5 OF THE WORK ACCOHRDING

TO MARKING LINES.

FILE 200x1],
KEY FILE SET

TRY SQUARE. STEEL
RULE, HAND VICE,

COMPLETING THE WORK
ACCORDING TO GIVEN .
DIMENSIONS.

o 2

WHEN NUMBER PUNCHING,

USE LIGHT BLOWS.

5 DEBURR THE WORX PROPERLY.
SQALE' 1:25 NO:-101/07
> EE .
MAT.: ST 10 . SH T METAL BOX 1 BASICIFITTING

UEVéLDF'MEHT CELL FOR SKILLED LABOUR TRAINING

PUE - GFE HMAN |ECHHITAL THAIMING PROUHAMMI




TEEEET AT R R NN ]

- mms

TOLERANCE =02

B =]
1
3
C JF Al C |D
A
E E
SEQUENCE OF OPERATIONS .
No. Symbol Tools Descriptions
o FLAT FILES FFLING OF TUHE WORK ALL
joox1; 200x1 AROUND IN RIGHT ANGLES.
1 TRY SQUARE. VERNIER MIND SMODOTHING ALLOW-
CALIFER, VICE CLAMPS| ANCE.
e FLAT FILES FINISHING OF SURFACE'A’
2 250x3; 150x1] WITH SMOOTH FILES.
i ::r\ TRY SQUARE, VERNIER | USE CHALK FOR FINISH-
i 5 CALIPER, VICE CLAMPS| ING. .
= "7 FLAT FILES FINISHING OF SURFACE 'n’
250x3; 150x1 IN RIGHT ANGLE TO
3 : r\ TRY SQUARE, VERNIER | SURFACE °"A°.
. % | CALIPER, VICE CLAMPS
e FLAT FILES FINISHING OF SURFACE 'C°
4 25%0%3; 150x3 IN RIGHT ANGLE TO
TRY SQUARE, VERNIER SURFACE 'A" & "B°',
\ ,CALIPER, VICE CLAMPS| . 3
COMPLETF ALL OTHER SURFACES. CHECK THE DIMENSIONS WITH
5 THE VERNIER CALIPER.
DEBURR THE WORK PROPERLY.

SCALE 1:1 NO:-1.01/08 1

MAT. ST 37-1 DRILLING EXERCISE1 BASIC | FITTING

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING

PaK.GERuAN TFCHNICAL TRAINING PROGRAMME




TOLERANCE £0.2

AN

12 wo(~)
h J $
| §4 ( M
e T 75 % 5=
Two pieces each
SEQUENCE OF OPERATIONS
Descriptions

- Na. I Tools

FLAT FILES 3100Oxl,

200x1, 250x3, 150x3
TRY SQ., V.-CALIPER

FILING OF SURFACES
‘A' & 'B' IN RIGHT
ANGLE.

LENGTE AND WIDTH MARK-
ING. USE SURFACES 'A' &
'B' AS REFERENCE SURF.

Symbol
2 5‘ MARKING TOOLS
o

FLAT FILES

FILING OF ALL PIECES

3 TRY SQUARE ACCORDING TO MARKING
VERNIER CALIPER LINES.
' PIWNCH BENCH NUMBERS.
SCALE 1:1 NO:—1.01/08
MAT.:'ST 37-1 RIvETING ExERCISE 1 BASICIFITTING

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
- Faw OF Ruan VECHNICAL TRAINING PROGRAMME
e




1

1

€

10

SEQUENCE OF OPERATIONS

10

33 ——

=%

75

I Na. | Symbol

Tools

HARKING TOOLS

m

Descriptions

e ——(
MARKING OF NOTCHES '

|

CROSS-CUT CHISEL
HAND HAMMER 600 g
STEEL RULE

WOODEN BLOCK

CHIPPING OF NOTCHES

FPLAT CHISEL

HAND HAMMER 600 g
STEEL RULE

WOODEN BLOCK

CHIPPING OFF TWO RIBS

& USE SAFETY

SHIELD,

USE PACKING BLOCK OF wWOND

LCOK AT THE CUTTING POINT WHILE CHISELLING.

SCALE 1:1

MAT. of Ex 05

CHIPPING EXERCISE

NOD = 1001710

BASIC I FITTING

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
FAK GERMAN TECHNICAL TRAINING PROGRAMGE _

0




ey i}

.‘ﬁgég:

8

4

26
75_,

%

SEQUENCE OF OPERATIONS

1

No. Symbeaol

Tools

Descriptions

HARKING TOOLS

MARKING OF GROOVES

GROGVE-CUT CIHISEL
HAND HAMMER GOO g

CHIPPING OF CROSSED

STEEL RULE GROOVES
WOOBEN BLOCK
GROOVE=-CUT CHISEL :
HAND HAMMER 600 g CHIPPING OF CURVED
3 STEEL RULE GROOVES :
WOODEN BLOCK
_ o e T - i
w SMOOTH FPILES SMOOTH AND SQUARE
— VERNIER CALIPER FILING ALL AROUND
& :ﬁ; TRY SQUARE
- | 5 VICE CLAMDPS FINAL WORK
= 101112
AR 0 CHIPPING EXERCISE oot
MAT. of Ex. 10

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
& FAK GERMAN TECHNILAL TRAINING ("ROGHAMME f¥v L] :
] [




Spgddfpgidad delgd  ansnesfdigrageaet ¥ e ddgagrnnrtsrnd gt aanada s B8 a" s aBas sseEssatasessas

meg®E PEE G Ege s s e

i

e e

7

20~k -20

L

SEQUENCE OF OPERATIONS

-l-'l‘-i-l

NO Symbol

Tools

Descriptions

PRSI
s !
o

MARKING TOOLS

MARKING OF ALL CENTRE
FOINTS AND CONTROL

CIRCLES

rl
-

MACHINE VICE

FROPER CLAMPING INTO

2 — l‘[_i PNRALLEL PIECES THE MACHINE VICE
DRILLING OF HOLES.
TWIST DRILLING MIND THE R.P.HM.
J ACCORDING TO AND FEED
GIVEN DIMENSIONS v x 1000
= R P, ® o
COUNTER-SINE DRILL DEBURRING OF ALL HOLES
4 oy FROM BOTH SIDES.
SCALE 11 e | : NO —101/13
MAT of Ex 08 DRILLING EXERCISE 2 BASIC/FITTING

R DYHMAN TECHIC AL TrfiinG PHOGHAMME

&a DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING

- |

13




o |5-w1=—15-»t=15 "]

15 ==15 =15~

b

4603

T p———— L

- |
120 -
e e
i T H R Lad
5% 15 D 1 A e
z= iy :~; o= i
— 150.;5
SEQUENCE OF OPERATIONS s
NO Symbol Tocls Descriplions
MARKING TOOLS MARXING OF CENTRE POINTS
1 oll4+ 1T i 74la 2 HAND VICES

CLAMPING TOGETHER OF
ALL PARTS

TWIST DRILL 5.2 MM

HAND HAMMER 60O g

DRILLING, COUNTER-
C/S8INK DRILL gu: SINKING AND DEBURRING
C/BINK DRILL 75 OF THE HOLES
RIVET-SETTING TOOL

5 MM SETTING OF RIVETS

HAND HAMMER 250 g
RIVET TOOL

PREFORMING OF RIVET
HEAD

RIVET FORMING TOOL
HAND HAMMER 60O g

FORMING OF RIVET
HEAD

g

o«

",

HAND HAMMER 600 g
RIVET TOOL

SETTING OF COUNTER=-
SINK RIVET

REPEAT RIVETING OPERATIONS FOR ALL RIVET JOINTS SHOWN IN
7 THE DRAWING. RIVET LENGTH FOR RQUND HEAD 'L' = T+1,54.
RIVET LENGTH POR COUNTER-SINK 'L' =T + 1 4.

SCALE 1:1

MAT. of Ex 09

RIVETING EXERCISE

ND:=101/14

BASIC / FITTING

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
PAK-GERMAN TECHNICAL THAINING PROGRAMME __“-

L]
-.l‘lnlnildu'ial!-
i




W TOLERANCE -0,3
TRUE LENGTH 150 -

_ﬁq.l.ﬁ

PART 3%4 ready supplied

SEQUENCE OF OPERATIONS

NO. Symbol Tools Descriptions
1 MARKING OF PART 122 ACCORDING TO  GIVEN DIMENSIONS.
FILING OF PART Y R 2
2 FILES, VICE CLAMPS ACCORDING 70 MARKING
LINES.
3 TWIST DRILL 6MM, DRILLING WITH PART 1&2
O HAND VICE CLAMPED TOGATHER.
L
b HAND HAMMER 250g. [RIVETNG TOGETHER OF PART
7 182
5 FINAL WORK, DEBURRING, MNUMBER PUNCHING.
SCALE 11 NO:— 10 /15

DEVELOPMENT CELL FOR SKILLED ' ABOUR TRAINING
F PAN GERMAN TEChnicaL TeAmG vror ot [




SEQUENCE OF OPERATIONS

NO. ‘ Symbol

_Tools,

Descriptions

1

L]
HAND HAMMER 250 g
TWO ANGLE IRON

BENDING OF THE
4 FLANGES

HAND HAMMER 250 g
TWD ANGLE IRON

BENDING OF THE SIDES
100 MM LENGTH
(WITHOUT FLANGES)

HAND HAMMER 250 g
SHIM

COMPLETION OF BENDING
WORK

MARKING TOOLS

DRILLING,
TWIST DRILL 3.2 MM DEBURRING,
\R\:\ HAND VICE RIVETING
FILES FILING,
5 MEASURING AND DEBURRING,
CHECKING TOOLS

FINAL CHECKING

SCALE 1:1

: NO:— 101116
MAT. of Ex.07 SHEET METAL BOX

BASIC / FITTING

DEVELOPMENT CELL FOR SKILLED I.ABOUR_. TRAINING
I PAK. GEHMAN TECHNICAL TRAINING PROGHAMME

" LE "R L .ll-....l&-l.i

-
l.lc’lll.lltl.l"c‘

T R T R




SECTION XY SECTION ]A-B
77 %4
& L 411
U = i
..'.4_.:},-, j 1 ,r'_.-'*i -
o K7 | / <
6= = T =T
NAYL J P o

SEQUENCE OF OPERATIONS

NO Symbal Tools Descriplions

1 CENTRE-BORE DRILL

. G.4x11; 8.4x14 COUNTER-BORING
,LBE MACHINE VICE
L

2 Rb COUNTER-SINK DRILL COUNTER-SINKING

== e MACHINE VICE

THREAD TAPS

3 = M4, M5, M6, MB, M10 | INSIDE-THREAD CUTTING
TAP=-HANDLE

HAND REAMER GHur

Ha IDHH

8 ", REAMING
HANDLE
5 COUNTER SINK DRILL DEBURRING AND HETAPPING
]-_— MACHINE VICE IF NECESSARY
S
MARKING TOOLS MARKING,

6 e HAND HACKSAW FILING,
. FILES FINAL WORK

/ MEASURING TOOLS

SCALE 1:1 NO-:—-1.01/18

MAT. of Ex.13 DRILLING EXERCISE BASIC/ FITTING

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
PAK_GEWMAN TECHNICAL TRAINING FHOGRANTAE R \-/

7




THE MATERIAL WILL BE
SUPPLIED BY THE TURNER

SECTION
SEQUENCE QF OPERATIONS
NO Symbol Tools Descriptions
—
1 FILES FILING OF
MEASURING= AND SQUARE 10 MM

CHECKING TOOLS

2 CUTTING OF OUTSIDE
b THHEAD MG
3 3 CUTTING OF OUTSIDE
DIESH.S THREAD #H4
SCALE 1 1 T
THREAD BOLT NO 101719
MAT: ST 37-1 FOR ELECTRICIAN ONLY BASIC/FITTING

DEVELOPMENT CELL FOR SKILLED LABOUR TRAMING
PAK-GERMAN TECHMICAL TRANING FROUHAMME R \_/

) N 18




-
e O O
[ ]
o L] Lo o
[ =]
TERMINAL PLATE | 1 01 | TERMINAL PLATE I “ gy
—J'J'JJMf.lJ.:mmmtrn‘ruml
’muHmmr-'rmmrmm_
SOLDERING | 03 | SHEETMETAL BOX 04
SOLDERING Il 05 | SOLDERING [l 06
=y,
FOUR CLAMPS THREE CLAMPS
CLAMP | 07 | CLAMP 1T
TWO CLAMPS
CLAMP 11l 08 | CLAMP NV

| T T

LAYOUT

BEMCH WORK °

i

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING GENEM”\
PAN-DERMAN TECHMICAL TRAIMNG PROGKAMME AN



I b @

Bime b g

AL TR

édiw

Bad

srwm TR EgR

TOLERANCE = 0.
UNLESS OTHERWISE STATED

6% =S
=10 = 12 e 2 0— s 20— :

‘ L}
;f_;f )
s
L
P 4
& x|
Wy
L]
i =t
o ¥
$
S L i .
30

hqu*r, 64 | -~
.q:;. : ¢,__+

k.

10

__..I?.._E.E’_*

—h]ﬁ ——l-Js ——
30

| Y

MATERIAL
2 mm end 6 mm hardpaper plates "Pertinax"
Countersunk brass screws M 5x30, brass nuts M5, brass washers 5 mm

PREPARATION OF TERMINAL PLATES

1. Check the material, mark the size of the plates and the centres

2a

Se
ﬂ.

Se

6.

7e
8.

of the holes according to drawing.

Saw the plates to approximate size.

Clamp both pieces together and drill the 4.3 mm holes.

Fit the 4 mm screws temporarily and the filing should be done
according to marking.

File the workpieces aocording to size, mind the right angles
and remove the burr as required, "

Take the plates apart, drill and countersink the 5.3 mm holes.
Fit the countersunk screws with washers and hexagon nuts.

Cover and isulate the screw heads by fitting the thin plate
from underneath with the help of 4 mm cheese head screws.

|
' EP 2.3/2.5.311
TERMINAL PLATE 1 —

DEVELOPMENT CELL FOR SKNLED LABOUR TRAIMING
PAK-GERMAN TECHNICAL TRANING PROGAAMME i e "




t\?ﬁ\l—l o
e
15 g

NN
20-

Y TNYTS
0

== €2
mn
— |5 —sda- 10 —sdo— 20 —ode— 20 —fe 16—
1
_ ‘3«1
¢V 7 ) .{" \. ,‘A'\l ‘¢. i et
% _@.-__,?1_-_;@,_. ol
Ly o Dy o7 '\1._: 2 T
i |
L ’ )
5 ,—%. DETAIL X
o g ,: ; X
‘l 4
, /)|
F .
t@:‘ 2.2tt1 @
. /'I/
i \ T 4
2 1
3 et B 5
T ' |
o 97 A
9 &1 =
l--15--¥'-—_ T2 ____J' I
B o~
P~
! S .-
L [OLERANCE *0)
UNLESS OTHERWISE STATED

AR

o s 5
— L‘ﬂ

P T L

I
T

Fud

__‘ :

hﬁﬂ:l.l_‘..'.}.. R ALY
i

TERMINAL PLATE 2

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
FAY GEMpAN TECHRICAL TRAMING PROGRAUME _

EP2.3/2.5.3/2

Bench Work

ELECTRICIAN
GENERAL

Srshe bl FEprEpagrr P RERETE

. e



TOLERANCE : 01
UNLESS OTHERWISE
STATED

be o -

L

|
50 54

'

70

SEQUENCE OF. OPERATION

1. File sheets at right angle according to the given measur-
mant. .

. Make the soldering surfaces clean and bright using file or
scraper.

« Apply soldering flux.

Tin both sheets at “he soldering surfaces.

« aolder the joint.

2] - ™ -

/"8

IR HTTTIT
’:.':ﬂfnﬂm.'mnmmmnm

n

W
"

i 90
SEQUENCE OF OPERATION

. 1, Straighten and bend the copper wire and make it bright.

2. Wrap bendung wire around the jeint according to sketoh.

3. Apply soldering flux.

4, Add solder and make sure that it properly penetrates the
oint.

S g&w under 45” as shown in the sketch and file the cutting
surfaces.-for checking. . '

TOOLS AND MATERIALS

Pile, Beraper, Combi-pliers, Soldering iron,
Soldering flut, Bolder, Soldering stone.

ROTE

It is essential to heat sheets and wires to the correct sol-
dering temperature. At too low temperature to solder does
not melt and penetrate the joint properly. SBuch "cold joints"
are not strong and do not give a good conductive connection.

RN R AR T R R SRR A

BL X

LIARL AR AL AN R BE ]

: SOLDERING EP 2.3/2.5.3/3
A, SOLDERING JOINT B. WIRE JOINT Bench Work

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING ELECTRICIAN
vaw GF AmAW TECHWICAL TRANING PROGAAMME - GEH.“M_
3
- F



A
parl 2

Z
80

~1 450
|
-
i

& N
i %
(=]
oy
1
"
= Y E
g & ‘
™~
5T 3L (=]
PREPARE THE BOX ONLY IF NOT MADE E
IN 101/7&16 2
THICKNESS 1mm or SWG 19 OTHERWISE 1

CHANGE MEASUREMENTS OF PART 2
GIVE SEQUENCE OF QOPERATION QVERLEAF

TOLERANCE Z 0. UNLESS OTHERWISE STATED

SOLDERING EP 2.3/2.5.3/ _I
SHEETMETAL BOX

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING f
FAW . GERMAN TECHMICAL TRAINING PROGEAMME -




SEQUENCE OF OPERATION

. Remove ilie insulation from the ends of wire.
Make the ends clean and bright.

- fwist the wires together as shown in drawing.
« Add splde ring flux.

« Solder the wire—connectio=,

TOOLS AND MATERIALS

Combination-pliers, flat-nose-pliers,
electricians knife, insulation remover,
soldering iron, solder flux, soldering wire.

iR ng A e

NOTE

deat up the soldering joints until solder flows.
Don' t stick solder to the Jjoint.

8

=

SEGUENCE OF OPERATIUN
1. Remove the insulation from the ends of .ire.
2. Make the ends clean and bripgat.

5« Twist the wvires together as shown in drawing,
&, Ada goldering flux.

H¢ Solder tho wire-zonnection.

e

SOLNERING
A MARRIED - JOINT B T-JOINT

OEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
MAN OF RMAN TECMMICAL TRAINING PRODAAMME '_

EP 2 3/25.,3/5
Bench Work

ELECTRICIAN
GENERAL




vy T A S T e——
p——
= R

a
# Yei ok ! "
(L) Ul.-'i'ull L) svndl i

1. Hamovo the i1asulation Lrom the ond: [ wire.
o Fizke the ends clew s TR n b § Ll (]

e Twist the wires Lot v SO0WE 2 TRWINT.

o Adil soldering flax,

Da Solder the wire=colindctlon.

TOULS ANU MATLER]IALS

Combination-pliers, [lat-nose-pliers,
cleshricians knife, insylulion remover,
soldering iron, solder flux, selderinp wire.

SOLDERING
CROSS JOINT

EP 2.3/25.3/6

> iE Gl Eeran TRLHEsCAL THAIRING PROGHAMME

=rw

NI LTy

[



FETE AL ki T A

TOLERANIE * O
LNLESS OQTHERWISE STATED

10 =l
-'[:.]- | g St
|
] E ! t B § ’
| =
| ! {D j 1O T
Kl ! Lodd i

SEQUENCE OF OPERATION

T« File ohe erd in righ

2. HMark the bending edge z2nd pndr &t 3 pisley
3. Bend the radius; with' the help of the bendisg-rved.
o~ Cut the: second eyl sccording WG SLE ' file 4t an

vight nnrcle,

5. Mark, punch and drill the holes

TYY ='W pppe——— - -

MAKING OF CLAMPS

' DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
- @ . - R Widat TELANCAL TRAMING PROGHAWWT “

. H Bt - B T

el 2.3/ 2.5317

ELECTRICIAN

GEHERAug{




TOLERANCE =01
UNLESS OTHERWISE STATED

=7 5

e
A

-
i

Fa¥ay
—_—

2 7574

g

& |

144 |

!

75 :.

SEQUENCE OF OPERATION

1 File one end at right angle,
2. Mark the bending edge and bend it at right angle.
3. Bend the radius with the help of the bending-rod.

4, Mark the second bending edge and bend it,
5. Cut the secogd end to size and file it at right angle.

6. Mark, punch .and drill the holes.

I EP 2 3/253/8
MAKING OF CLAMPS < e

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING < | g geTRiciAN
FEAN GERUAN TECHNICAL TAAINING PROGEAMME _ GENERA




TOLERANCE =01
UNLESS OTHERWISE STATED

T

n

~-—

F— = =

T
6=

& | -
3 ‘ I
A

s .

SEQUENCE O OPERATION

1« File one end at right angle.
2. Mark the bending edge and bend it at right angle.

« Dend the clamp according to drawing.

4. Mark the second bending edpge and bend.,

5« Cut the second end to size and file it at right angle,
6. Mark, punch and drill the holes.

EP 2.3/2.5.3/9

- MAKING OF CLAMPS Bench Work
DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING ELECTRICIAN

PAX CERGRN TECTMICAL TRANING PROGRAMME e GENERAL




TOLERANCE :(.1 UNLESS OTHERWISE STATED

Part Ho. 2

Part Ho. 7 +

art Ko, 1 =

OPERALTON

GECUEHCE

le Mle one end ab ris

- -
2. Mork the bepdinz o and bend the radius
with the help of Gl mnding Tod.
¢ Lt the second cnd So size ond file it oat

right amngle.
+ 5plit and bend the wull-gside eni.
« File one end at rapht oogle.

Mark the bendins odiee and bBend tho radaius
with (he help of the bendiug-rod.
e Culk the seecond end to size and file it at

right anples
t. ["..'.1[*}1. punch and deill the hales i both

DartsSs

=semble all

five part topethy

DEVELOPMENT CELL FOR SKILLEC LABOUR TRAINING

IEF‘ 2.3/2.5 3110

MAKING OF CLAMPS Bench Work

ELECFRICIAN

PAK GERMAN TECHNICAL TRamwinG PROGERAMME

GENERAL .




S FE R TREITL.

LR R LANET PRI VEY

IR T

5 Es2]
 wireoi| | WIREO2]
r_-:‘\'ﬂ | -~ l il
]! 'l'f" ;:I
:‘J |J ] l..l'll |
Hol of—1—®
—9 & )
03-0t —= CABLE 05 020408 o WIRE 06 |narens06 = WIRE 07 |06C7 » CABLEOB

(}
T
(o)
241
QI

rI

1l
¥ oo #]

0507 28—o~ WIRE 08 CABLE 10 CABLE I
= (DG O]
\V L L) _
Bl o Moo 5-._“__1
A D W !
WIRE 12 CABLE 1L CABLE 15 CABLE 16
553 I—tﬁ
CABLE 17 CAGLE 15 CABEE 19 CABLE 20
EP 2.1/2.51
LAYOUT Instailation |
DEVELOPMENT CELL FOR SXILLED LABOUR TRAINING ELECTRICIA
TAFR GERMAN TECHNICAL TRAINING FROGRAMNE "R | GENERAL
E [




ool ' 1}
¥ : |
E
¥ |
; |
| |
2 n i
~~d (i ) I. ‘l
| = -
M - i i
af®
2% | !
SN
Ty |
I'" F =
e o wet 1 l
e 1
g
(R LT 1
| SR o T
220 -! - 220
SEQUENCE OF OVERATION
1. Pix terminnl plates on the exercise board according to
drawing.

2. Straighten the wire and cut it into three equal pieces.

J« Remove the insulation from one end of each wire.

4. Make an eye on each bared end.

5« Bend the wires according to drawing.

6. Cut the other ends of the wires to the necessary length,
remove the insulation and make eyes.

7« Connect the wires with terminals and tighten the nuts,

8. Check the job thoroughly end compare with drawing.

TOOLE REQUIRED MATERIAL -
Electrician' s knife 2 Terminal plates I,
Flier, Flat- and Round Nose Plie, compl.

Backsquare, Mcterrule, 1.20 mw NYA 1.5 SRE

Spanner 9 mm 3
(1/.04l4a 1 mm=)

i Cheese héad screws
M4 x 25
(3/76 " x 1 ") w, nuts
and washers
NOTE
Ton' t damage the conductor when removing the insulationl!

Don' ¢t bend the wire with sharp edged tools!
Make eyes alwayn according to screw-size and bend them clockwisel

EP 2.3/2.5.111
installatron |

_l HANDLING OF WIRE

DEVELOPMENT CELL FOR 5K|'_L|.'ED LABOUR TRAINING
Vak L Ruan TECANCAL THAINING P ROGNAMME hewi=s iy




— 70
1

- —

-

A
il

(F_
b —— 718

i .
Ly A ==

e

SEQUENCE OF OPERATION

1. Hemove all parts from exercise board.

2. Fix terminal plates on the exercise board according
to drawing.

S« otraighten the wire and cut it into three equal pieces.

o Remove the imsulation, make eyes and connect the wires
with terminals on one side.

i« bBend the wires according to drawing.

e Cut the other ends of wires to the necessary length,
remove the insulation and mike eyes.

7« Connect the wires with terminals, tighten the nuts and
do the final check,

HOTE

Don' t damage the conductor while removing the insulation!
Don't bend the wire with sharp edged toolsl _
Make eyes always according to screw=-size and bend them clockwise!

MATERIAL ;
1 Terminal plate I compl. 7 Cheese head scrows M 4 x 25
1 Terminal plate II, compl. Eyﬁjfﬂﬁ " %1 ") w, nuts & washers

2.50 m NYA 1.5 mm ° (1/.044~1 mm

EP 2.3/2.5.1/2
HANDLING OF WIRE

installation_ |

OEVELOPMENT CELL FOR SKILLED LABOUR TRAINING ELECTR
Vax GEWMAN TECHNICAL TRANING PHOGRAMME =T GENERAL
xi




25

@00

uBWUENCE OF OPERATION

1. Hemove the wires of exercise 2.

2. Straighten the cable.

5. llend the cable according to drawing.

4. Preparc both ends of the cable exactly ar per special
sketch and mnke eyes

95« Fix the cable on the exercise board with clamps
and connect the wires with terminals.

€. Check the job thoroughly and compare with drawing.

NOTE
Do’ t use tools to bend the cable.

Don' t damage conductor=-insulation while removing the sheath-
insulation.

MATERTAL A
0.0 m NIM 3 x 1.5 mm*

(» core cable round 1/ 044 - 3/,029)

EP 2 312.51/3
HANDLING .OF CABLE I :

installation |

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING ELECTRICIAR
Fid GERMAN TECHNICAL TRAINING PROGAAMMJE - GENERAL
J5




B

LEFF’Jé
(000
o == Bl o= =

20 —=

[das |-

SEQUENCE OF CPERATTON

1, Fix an additional terminal plate on the exercise board.

2. Straighten the wire and cut it into three equal pieces.

2, Bupdle the wires with insulation tape.

4, Bend the wires according to drawing and .meke the crossing
g8 shown in additionel sketch. N

5. Cut the ends of the wires to the necessary length, remove
the insulation and make eyea.

6. Connect the wires with both terminal plates, tighten the
nuts and do the final check.

MATERIAL

1 Terminal plate I

2,0 m NYA 1,5 un®  (1/.044 ~ 1 mn°)
2 Cheese heed screws M4 x 25

(3/16" x 1") with nuts and wasghers

EP 2.3/2.5.1/&
Installation 1

HANDLING OF WIRE

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
FAR-GF HMAN TECHNICAL TRAIMING PROGRAMME




idgd g 4 vdg a8

SOUTENCE OF OPERATION
Fix the socket on the exercise board.

8traighten the gable.

Bend the cable accordinz to drawing.

Prepare the ends of the cable.

Fix the cable with clamps on the exercise board.
Connect the wires with terminals.

Check the job thoroughly and compare it with drawing.

I MW Faoiio = (e

NOTE
Connect all wires properly, especially the protective wire.

MATERIAL

1 3-pin socket 1 Countersunk screw M 4 x 50

1 round block 2 (3/16 " x 2 ") w, nut &

0.50 m NIM 3 x 1.5 mm = washer)

(3 core cable round 2 Vood screws 3.5 x 20

1/.044 = 3/.029) half round head (No. 6 3/4")

EP 2.3/2.5.9/5
INSTALLING A SOCKET g

DEVELOPMENT CELL FOR SKILLED LAE.DUR TRAINING ELECTRICIAN
Pav GERWAN TECHNICAL TRAINING PROGRAMME __ GENERAL



il
e 30 —=ny

SECULNSE OF OPRATION

1. Fix the additional terminal plate on the exercise board.
2. Straighten the wire and cut it into Lhree equal pieces.
J« Lundle the wires as shown in drawing,

“e Eend the wires as shown in additional sketch.

2+ Coanncet the wires with terminals.

€. Check the job thoroughly and compare it with drawing.

MATSRIAL

1 Terminal plate I.

2.70 m NYA 1.5 mm 2

(/0841 )

2 Cheese head screws M 4 x 29
(3/16 " x 1 ") w. nuts and washers

!

HANDLING OF WIRE

EP 2.3/2.5.1/6 +

Instatlation 1|

Paw GEMMAN TECHNICAL THAINING PHOGRAMME

P Baasra®s Bl feal s 8 e AL

- il



{LTC

185

@

-»sm-'—-- 135

——55

SEQUENCE OF OPERATION

1, Fix lamp holder and single pole switch on the exercise board.
2, Btraighten the wire and cut it into the necessary length.

%, Bend the wires according to drawinfg.

i, Connect the wires as shown in drawing and additiogal sketch.
5. Check the job thoroughly and compare it with drawing.

NOTE

FThase wire always has to be connected to the switch.
Neutral to the lamp holder.

MATERIAL

41 lLemp holder 2 Countersunk screws M 4 x 50

41 Single pole switch (3/17¢ " x 2 ") w. nuts & washers

2 Round blocks 2 Wood screws half round head 3.5 x 15

(No, 6 x 1/2 ")
2 Wood screws half round head 3.5 x 20
(No. 6 x 3/4 ")

0.9 m NYA 1.5 mn ©

(1/.044 ~ 1 mn°)

: = IEP 2.3/25.\/7
LAMP-SINGLE POLE SWITCH

Installation [

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING ELECTRICIAN
aw GCMaAM TECHWOAL [RAINING MROGR A M _ GENERAL !

51




l-———100—~—

-165

SEQUENCE OF OPERATION

1. Remove the parts from exercises 3, 4 and 5.

2. Fix tarminaz plate on the exercise board according to
drawing.

5« Straighten the cable,

4. Bend the cable according to drawing and prepare the ends.

2+ Fix the cable with clamps on the exarcise board.

6. Connect the wires with terminals.

7+« Check the job thoroughly and compare it with drawing.

MATERIAL
1 Terminal plate I

035 m NIM 3 x 1.5 lme

(3 core cable round 1/.044 - 3/,029)
2 OCheese head screws M 4 x 25

(3/16" x 1") w. nuts & washers

EF 2.3/25.1/8
- t-fAhiDLING OF CABLE |




e

L_ml}—-q b5

SEQUENCE OF OPERATION

1s Fix lamp holder and two-way switches on the exercise board.
2+ Straighten the wire and cut it into the necessary length.

3. Bend the wires according to drawing,

4. Connect the wires as shown in drawing and additional sketch.
5« Check the job thoroughly and do the final check.

©. Test the wiring.

MATERIAL

1 Lamp holder 3 Countersunk screws M 4 x 50
2 Two-way switches (3/16 " x 2 ") w. nuts & washers
% Round blocks 2 Wood screws half round head
2 3.5 x 15 (HB- b x 1/2 "}
2.0 m NYA 1.5 mm 4 Wood screws half round head

= 20 (No. 6 4 n
(1/. Ot 4 uunEJ J.5 x (No z 3/ )

e zar25 s

TWO WAY CIRCUIT

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
pax_GERMAN TECHmicAL tramine raocranee N

ELECTRICIAN
GENERAL‘J




-
2
) S '
a0 -
Pt
| 1 :
./ w
3
(& !
L
|
e 80— — K0 ———f L-&a—

SEQUENCE OF OQPERATION

1. Hemove all parts from exercise board.

2, Fix terminal plate, junction box, single pole switch, sccket
und lamp holder on the exercise board.

3, Straighten the cable and cut it into the nececsnary length.

4. Bend the cable according to drawing and prepare the ends.

5. Connect the wires with terminals. %Sucket direculy connected)

6. Check the job thoroughly and compare it with drawing.

7. Test the wiring

NOTE

The colour-code of protective wires is widely internationally
standardised. In most countries yellow/green is prescribed, in
some others, however, only green is used (USA, UK, Pakistan ete.).
In any case, Lhe colour of the protective wire must not be changed
within one system.

MATERTAL

91 Terminal plate I 91 Lamp holder
1 Bingle pole switch 1 Junetion box
1 3-pin socket % Round blocks

0.5 m NYM 3 x 1.5 mm® (3 core cable round 1/. 4 = 3/.029)
0.75 m NYM 2 x 1,5 mm © (2 core cable round 1/.044 - 3/.029)

3 Countersunk screws M 4 x B0 55/‘16 i *'3 w., nuts & washers
4 Cheese head screws M 4 x 25 (3/16 " x 1 ") w. nuts & washers
2 Wood screws Hmlf round head %.5 x 15 (Ne. 6 x 1/2 "g

4 Wood serews half round head 3.5 x 20 (No. 6 x 3/4 "

EP 2.3/251/W
|

Installation

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINlNEI- .
Paw ik HakM TECHNICAL THAINING FROGHAMHE __

| LAMP AND SOCKET




LE

ST, S YT .’ - 80

J.._an = i, G o W

QUENCE OF OPE/ATION

1

Remove all parts From exercise board.

2, Fix terminnl, junction box, two two-way switches and
lamp holder on the exercise beard,

Je Straighten the cable and cut it into the necessary length.

%+ Bend the cable according to drawing and prepare the ends.

5. Connect the wiroes with terminals,

6+ Check the job thoroughly and compare it with drawing.

7= Test the wiring.

MATERIAL

1 Terminal plate I 1 Junetion box

2 Two-way switches 32 Round blocks

1 Lamp holder

0.5 m NYM x 1.5 mnm e

(2 core cable round 1/.044 - 3/.029)
o |

Oe

7S5 m NYM 3 x 1.5 mm©

(3 cora cable round 1/.044 - 3/,029)

5
4
2
B

Countersunk screws M 4 x 50 53/46 o 2 “g w. nuts & washers
Cheese head screws M 4 x 25 (3/7% " x 1 ") w. nuts & washers

' Wood screws half round head 3,5 x 15 ENn. 6 x 1/2 "a

Wood serews half round head 2.5 x 20 (No. 6 x 3/4 "

EP 2.3/251/1

TWO WAY CIRCUIT

installation |

VAK GFHMAM TECHNICAL TRAINING PROGRAMME -




|
0o

o
=
L

(&
r-ﬁﬂ—ll

—— 160 ——

SEQUENCE OF OPERATION
1. Remove all parts from exercise board. .
2. Fix lamp holders, multicircuit switch and terminal
plate on the exercise board,
%, Straighten the wire and cut it into the necessary length.
4, Bend the wires according to drawing and conncct them,
5. Check the job thoroughly and compare it with drawing.
6. Test the wiring.

MATERIAL
1 Terminal plate 1 1 Multicircuit switch
2 Lamp holders %3 Hound blocks

2:50 m NIA 1.5 mm2 (1/ o Ols e 1 mmg}

3 Countersunk screws M 4 x 50 Ei{ﬂﬁ " .y "g w. nuts & washers
2 Cheese head serews M 4 x 25 (3/16 " x 1 ") w. nuts & Washers
4 Yood screws hal’ round head 3.5 x 15 éI‘vln. 6 x 1/2 “;

2 %Wood serews half round head %.5 x 20 (No. 6 x 3/4"

TWO LAMPS-MULTICIRCUIT SWITCH IEP 2.3/2.5.112

Installation 1

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING

Vel GERMAN TECHMICAL TRAINING FROGRAMME -




N
= &— W

140

&
-—nu—l

GEQUENCE OF OPERATION

1+ Remove all parts from exercise board. \ !
2. Tix lamp holder, two-way switches, terminal plate and inter-
mediate switch on the exercise board.

7« Otraighten the wire and cut it into the necessary length.
4. Bend the wires according to drewing and connect them.

S« Check the job thoroughly and compare it with drawing.

6. Test the wiring.

MATERIAL

1 Terminal plate I 1 Intermediate switzh

1 Lamp holder 4 Round hlocks

2 Two-way switches
3.5 m NYA 1.5 mm © (1/.044~ 1 nm‘?J

A4 Countersunk screws M 4 x 50 E}fﬂ& "x 2 ”; w, nuts & washers
2 Cheese head screws M 4 x 25 (3/16 " x 1 ") w. uuts & washers
_ 2 Wood screws half round head 3.5 x 15 ENo. 6 x 1/2 "g
6 Wood screws half round head 5.5 x 20 (No. 6 x 3/4 "

I{ intermediate switch is not available then perform practical exercise of Drg, EP 2.3/2.5.1/21

LAMP-TWO_WAY AND I EP 2.3/25.1/13 i

INTERMEDIATE SWITCH Installation 1

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
PAN.GERLAN TECHNICAL TRATNING PROCRALME _




1120

(RF

A =i
i

e BO—A=—140 —--l Lnu--—

EQUENCE OF OPERATION

-
o

1. Remove all parts from exercise board,

2. Pix junction box, multicircuit switeh, lamp holder and
terminal plate on the exercise board.

Straighten the cable and cut it into the necessary length.
. Prepare the ends and connect the wires.

S5« Check the job thoroughly and conncct the Wires.

6. Test the wiring.

N

MATERIAL
1 Terminal plate 1 4 Junection box
2 Lamp holders % Hound blocks

1 Multicircuit switch

-2
0.9 m NYM 2 x 1.5 mn™ (2 core cable round 1/.048 - 3/,029)
0.7 m NYM 3 x 1.5 mme (3 core cable round 1/.044 - 3/.029)

4 Countersunk screws M 4 x 50 gﬁfﬂb " x 2 "a w. nuts & washers
4 Chease head screws M 4 x 25 (3/16 " x 1 ") w. nyLs L washers
4 Wood screws half round head 3.5 x 15 Eﬂo. 6 x | /2™
2 Wood screws half round head 7.5 x 20 (No. G x /4 "

EP 2.3/2.5.1/1%
installation |

TWO LAMPS-MULTICIRCUIT SWITCH

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
HAN GEHMAN TECHNICAL THAING G PROGRAMME (S ¥

T e



| i [
a09] | !
7%
== =l
-
7o N 6 o
U% "+
| )
B0 -J- 140 --! LBGI -

SEQUENCE OF OPERATION

1« Remove all parts from exercise board.

2. Pix junction boxes, ewitches, lamp holder and terminal
plate on the axnrclsa board.

3« Straighten the cable and cut it into the necessary length.

4, Prepare the ends an.. conneet the wires.

5« Oheck the job thoroughly and compare it with drawing.

6. Tept the wiring.

MATERTIAIL

1 Terminal plate I 1 Lamp holder

2 Two-way switches 2 Junction boxes
1 Intermediate switch 4 Round blocks

0.5 m NIM 2 x 1.5 mm° (2 core cable round 1/.044 = 3/:029)
0,9 m N'M 3 x 1.5 mma (3 core cable round 1/,048 = 3/,029)
0.35 m NIM 4 x 1,5 mma (4 core cable round 1/.044 - 3/.029)

B Courtersunk screws M4 x 50 E}/ﬁﬁ“ x 2“; w. nuts & washers
& Cheose heasd perews M4 x 25 (3/168" x 1") w. nute & washers
2 Wocd screws half round head 3.5 x 15 (No, 6 x 1/2"
A huod serews half round head 3.5 x 20 (No. 6 x 3/4"

I intermediale switch is not available then perform practical exercise of Org. EP2.3/2.5.1/22

LAMP-TWO WAY AND EP 2.3/2.5.1/15
INTERMEDIATE SWITCH Installation |

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING i
VAR GF MMAN TECHNIT AL TRAMING PODTAALME -



b0 b —— 14 —— Laﬂ*

SEQUENCE OF OPERATION

1. Remove all parts from exercise pDourd,
2. Fix junction box, lamp holder, switch, socket

and terminal plate on the exarcise board.
5« Straighten the cable and cut it into the necessary length.
4, Bend the cable according to drawing and prepare the ends.
5. Connect the wires and check the job thoroughly.
6. Lest the wiring.

(Socket directly connected)

MATERIAL

1 Terminsel plate I . 1 Lamp holder
1 Single pole switch 1 Junction box
1 3-pin socket 3 Round blocks

O.4 m NYM 2 x 1.5 mm ( 2 core cable round 1/.044 = 3/.029)
0.3 m NM 3 x 1.5 mm { » core cable round 1/.044 = 3/,029)
D-E‘ m NIM 4 x 1.5 ma ( 4 gore cable round 1/-0‘”& - }flcag')

3 Countersunk screwa M 4 x 50 (3/16" x 2"; W. nDuts and washers
4 Crecyge head screws M 4 x 25 (3/16" x 1") w. nute and washers
2 Woud socrews half round hesd 3.5 x 15 (No. 6 x 1/2%

4 Wood screws half round head 3.5 x 20 (No. & x 5/4"

EP 2.3/2.5.1/16
Installation |

LAMP-SINGLE POLE SWITCH-SOCKET

OEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
VAW GEHMAN TECHNICAL TAAINING PROGRAMME e




4FE @ FE A & BRIV @y

L EFR I N FE FEFEN I R

TEFTErEIREGET EET ETE W O

220

A0 = | 120 | L—EU -

SEQUENCE OF CFERATION

1« Remove all parts from exercisc board.

2. Fix junction box, single pole switch, lamp holders and
terminal plate on the exerecise board.

5 Straighten the cable and cut it into the nccessary length.

“s bend the cable according to drawing and prepare the ends.

2« Cannecl the wires and check the job thoroughly.

e Tuit the wiring,.

MATERLAL

1 Terminal plate T I Junction box-
1 Single pole switch 3 Round blocks
2 Lamp holders

.30 m NYM 2 x 1.5 mm” (2 core cable round 1/.084 - 3/.029)

5 Countersunk screws M 4 x 50 Eﬁﬁﬁ "ad ") w, nutzd washars
4 Cheese head screws M 4 x 25 (3/16 " x 1 ") w. nutn & washers
4 Wood screws half round head %.% x 1% (No, & x 1/2 ny
2 Wood screws half round head 5.5 x 20 (Mo, & x 3/4 ")

EP 2.3/2.6.117 |

Installation |

‘ LAMPS- SINGLE POLE SWITCH

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING

am GF HMAW FEGHNICAL TRAINING PROGRAMME

ELECTRICIAN




ho- B0 “wte—— 140 L 80 *‘I

SEQUENCE OF OFERATION

1. Remove all parts from exercise bgoard,

2+ Fix junction box, switch, clamp, lamp holder and socket on the
exercise board.

Je Straighten the cable and cut it into the necessary length.

4. Bend the cable according to drawing and prepare the ends.

2+ Prepare the ends of flexible cable, connéct one side with
J=pin plug and the other side with the junction box on the
exercise board.,

6. Connect the wires and check th- Jjeb thoroughly.

7+ Test the wiring. (Socket directly connected)

MATERIAL
1 Single pole switch 2 Lamp holders
1 3-pin plug 4 Round blocks

1 3-pin sockst

1.25 m NYM 2 x 1.5 nm® (2 core cable round 1/,044 - 3/,029)
Oub m NYM 4 % 1.5 — (4 cora cable round 1/.044 - 3/,029)

-
T+0 m Plex. 3 x 1.5 mm“ (3 core cable round 40/.0076)

4 Countersunk screws M 4 x 50 §3175 mx 2 "g W. nuts & washers
2 Cheese head screws M 4 x 25 (3/176 " x 1 ") w, nuts & washers
4 Wood screws half round head 3.5 x 15£No. 6 x 1/2 “g

%4 Wood serews half round head 35 x 20(No. 6 x 3/4 "
cuble

1 Clamp compl. for floxible

EP 2.3/2.5.1718
Installation 1

LAMPS - SINGLE POLE SWITCH-SOCKET

FAY GEWWAN IFCHME AL (RARNG #NOGRAMME




10 00—

0 L]
) )

Q
i
—120

--—M—-—IH-—M——_.-J "'-—l

SEQUENCE OF CPERATION
1e Hemove all parts from exercise boords

Tix junetion box, switech, clamp. lampholders and sockets on
the exercise board.

3, Straighten the cable and cut it into the necessary length.
Bend the cable according to drawing and prepare the ends.
5. Connect the wires and check the job thoroughly.

6, Test the wiring. ) )
(Sockets and lamps controlled by multicireuit switch.)

MATERTAL
1 Multicircuit switch (or 2 S.P.8.) 5 Round blocks
2 Lamp holders 1" Junction box

2 3-pin sockets
. . /.00
1.1'm NIM 3 x 1.5 AT {3 core cable reund 1/.044 3/.029)

1 flexible cable with plug (from previous exercise)
0.6 m NYM 2 x 1.5 ot (3 core cable round 1/.044 - 3/.029)

5 Countersunk screws M 4 x 50 (3/16 " x 2 "% w. nuts & washers
2 Cheese head serews M 4 x 25 (3/16 " x 1 ") w, nuts k washers
4 Wood screws, half round head 3.5 x 15 ENG. & x "-'.f'-E"";

& Wood serews, half round head 3.5 x 20 (No. 6 x 3/4"

1 Clamp compl. for flexible cable

EP 2.3/2.51/19

- LAMPS-MULTICIRCUIT SWITCH-SOCKET
installation

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING ELECTRIC-'AW
PAK . Gx RdAM TECHMICAL TRMAMING FROCRAMME i ] GENERAL
f . -1

e sulifes .

1




Ll
7

|
i N
3
o gl -—}
=
( \-" ‘
@ L——_®
2
{
s B0 160 Lvﬂﬂ -

SEQUENCE OF OPERATION

1« Hemove all parts from exercise board.

2. Fix junction box, switches, clamp and lamp holder on the
exercise board,

%, Straighten the cable.and cut it into the necessary length.

4, Bend the cable according to drawing and prepare the ends.

5. Yonnect the wires and check the job thoroughly.

©. Test the wiring.

MATERTIAL
2 Two-way switches % Hound blocks
1 Junction box 1 Lamp holder

0,50 m NYM 2 x 1.5 mmg EE core cable round 1/.044 = 3?.&29%
C.80 m NYM 3 x 1.5 mm % core cable round 1/,044 = 3/.029
1 flexible cable with plug (from previous exercise)

% Countersunk screws M 4 x 50 55f16 "X 2 "; w. nuts & washers
2 Cheese head screws M 4 x 25 (3/16 " x 1 ") w. nuts & washers
2 Wood screws, half round head 3.5 x 15 ENQ- 6 x 1/2 “g

4 Wood screws, half round head 3.5 x 20 (No. 6 X a/4 "

1 Clamp compl. for flexible cable

EP 2.3/2.5.1/20
LAMP-TWO WAY SWITCH
Installation |
DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
Fnl-ﬁE-IHﬂH TECHMICAL TRAINING PROGHAWMME -




SEQUENCE OF OPFRATION

1. Remove all parts from exercisc boord.

<. Fix lamp holders, terminal plate, two-way swibtches and
single pole switch on the exercise board.

3« Struighten the wire and cut 1t into the necessary length.

4. Bend the wires according to drawing and conrect them.

5« Check the Job thoroughly und compare ik with drawing.

6. Test the wirinp.

Lamp L, controlled by two-way switches.
Lamp L, controlled by SPS.

MATERIAL
1 Terminal plate I Single pole switch
2 Lamp hpolders 5 Nound blocks

2 Two-way switches
“1
5.40 m NYA 1.5 mm°  (1/.044 )
I "% Ww. nuts & wachers
"x 1 ") w, nuts & washers
b

~r
5 Countersunk screws M 4 x 50 Eﬁﬁ :
EHG.E: /2 ")

Y

m
16
16
t'|

2 Cheese head screws M 4 x 25
} Wood screws, hall round head 7.
No. & x /0 ")

X
6 Wood screws, half round hend 3.5 x

1
20

| P 2.3/25.1/2
installation 1

LAMPS-SINGLE POLE
AND TWO WAY SWITCHES

DEVELOPMENT CELL FOR SKILLED LABOUR TRAIMING'
FAN GLAWAN TELHNCAL TRAINING PROGRAMHE —._-

————— il

ELECTRICIAN




—

BO ~=

e Fewm T

-»m—--—-ua—J

L L

SEQUENCE OF OPERATION

1. Remove all parts from exercise board.
2. Fix junction boxes, switches, lamp holder and terminal
plate on the exercise board.
3« Btraighten the cable and cut it into the necessary length.
4, Prepare the ends and connect the wires.
5. Check the job thoroughly and compare with drawing. ’
b, Test the wiring.
(Socket directly connected)

BE T &L

MATERIAL

1 Terminal plate I
2 Two=-way switches
1 3-pin socket

Q7 m NYM 2 x 1.5 mn®™ (2 core cable round 1/.044 = 3/.029)
T2 m NYM 3 x 1.5 mm~ (3 oore cable round 1/,084 = 7/,029)

4 Countergunk screws M 4 x 50 Eﬁ/15 "x 2 ") wea nuts & washers
& Cheese head screws M & x 25 (3/16 " x 1 "} w, nuts & washers .
2 Wood screws, half round head 3.5 x 15 END. 6 x 1/2 "
6& Wood screws, half round head 3.% x 20 (No. 6 x 3/4 "

FREBtT A ReY T

Lamp holder
Junection boxes
Round blocks

na
"~ T Y

P

LAMP - TWO WAY SWITCHES-SOCKET

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
FAW-GERMAN TECHMICAL TRAINING PHOGRAMME __

] EP 2.3/25.1/22 t

Installation 1




AR
| RS

g

T

~ STRAIGHT mmu 1OINT

B STRAIGHT CASING AND'CAPPING JOINT

-

Y, 7

§  L_CASING AND CAPPING JOINT

b —AATTEN JOINT
"
p
.1
i
T3 CEILING BATTEN JOINT 10 CEILING CASING AND CAPPING JOINT
F
1 f £ -
y

4 " T-BATTEN JOINT 11 T-CASING AND CAPPING IOINT
] B 1
) N

|| .- | -

5 CHOSS RATTEN JOINT 12 CROSS CASING AND CAPPING JDINT -

A

13 BRIDGE CASING AND CAPPING JOINT

6  BRIDGE BATTEN JOINT
C N O
J i r‘% :lﬁ
{7 VARIOUS BATTEN JOINTS 14 VARIOUS CASING AMD CAPING JOINTS

EP 201 [3.5:3)

A
| LAYOUT WOOD WORK
DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING GENERAL |
1 ST TR RAN TECRMITAL TRATING PROGRAMME — I |CLECTRICIAN
55




SEQUENCE OF OPERAT 10N

JOINT 4
. BOTH PIECES BQUALLY AND THOROUGHLY, LENGTH BETWEER 'A"
AND 'R' ABOUT 2 INCHES.

2= SAW PROPEHLY AT MARKED LINES.

5« FILE THE SANED SURPACES SHOOTH T0 MAKE THEM PIT BXACTLY
TOGETHER.

8. 'SOREW (MAIL) THE TWD PIECES TOGETHER.

%« CHEDK ALL OVER AND GIVE PINISHING '"C THE JOINT ACCORDING TO
DHAWING.

#:‘l NT 2

& BOTH PIECES EQUALLY AND THOROUGHLY. LINGTH BETWEEN *A*

AND *3° ACCORDING TO WEIOTH OF DATTEM, BORIZONTAL LINE IN THE
MIDILE OF .

$IEP 2, 3, & AND S A8 IN JOINT 1,

J ;
%nnz Op OPERATIONS AS JOINT 2.

io0es BATTEN- A-B

METER RULE, TRY BAGE BQUARE, SAW, RAHF AND SMOOTH PILES, FAMMER, | WIDTH

BENCH HOOK, GUREW DRIVER. 1y2* n*
' i
2" | 1 w2

| . EP-2.3/3.5.31
INLINE OR STRAIGHT-BATTEN JOINTS |————

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING
i 4

PAM-GERMAN TECHNICAL TRAINING PROGAAMME _




THE "L" JOINT IS A THREE
FIECE JOINT IN VHICH TwO
PIECES ARE EQUAL.

SEQUENCE OF OPEREATION
JOINTY

1.MARK BOTH EQUAL PIECES

THOROUGHLY. LENGTH BETWEEN A AND B IS ACCORDING
TC WIDTH OF BATTEN. MIDDLE LINE ALWAYS IN CENTRE OF
BATTEN.

2. EAW PROPERLY AT MAPK:D LINES.

Be MARK THE CONNER PIECE WITH THE HELP OF A DIVIDER.

4. REMOVE EXCES3 MATERIAL BY GAWING. THEM RASF AND
FILE TO FROFER BHAPE OF EEND.

. RASP AND PILE THE JOINING SURFACES SMOOTH 80
ALL PARTS PIT TOGETHER EXACTLY IN AN 90 ANGLE.

G. SCHEW (NAIL) THE THREE PIECES POGETHER,

7« CHEOE ALL OVER AND GIVE PINISHING TO THE JOINT.
Rz=not less than 2.

m

e L o] J0INT 2
= BTEF ONE AND TWO AB ABOVE.
3. RASP AND PILE THE GAWED
BURPACES SNMOOTH TC MAKE
THEM FIT TOGETHER  EXACTLY
iK AN ANGLE OF 94
GOREW (MAIL) THE TWO FIECES TOGETHER.
R 2« MARK THE CORNER PIECE, WHICH HAS THE SAME
THICENESS AS TEHE nmn.-sh:! THE HELP OF A

e
i
I
I
|
[
1

NS

DIVIDER. R = NOT LESS THAN 17,

6. REMOVE EXCESS MATERIAL BY SAWING. THEN RAGP
AYD PILE TO FWOFER SHAPE OF BEND.

Te EEEE: (NAIL) TEIS CORNER FI1ECE INSIDE THE BATTEN

8. CHECK ALL OVER AND GIVE PINTSHING 70 THE JOINT.

TOOLS
METER RULE 'mr am BQUARE, SAW, RAGP AND SMOOUTH
PILES, HAMMER, BENCH HCOK, SCREW DRIVER, DIVIDER.

e - e ..__--"F*-'- S,
]
T |

b3

EP2.3/3.5.3/2 -
Wood Work

. "L’ BATTEN JOINTS

DEVELOPMEN] CELL FOR SKILLED LABOUR TRAINING

FAK GEAMAN TECHNICAL TRAINING PROGRAMME -

ELECTRICIAN




ALTERMNATIVE

SEQUENCE OF OPERATION

1. MARK THE TWO BATTENS BQUAL AND THORJUGHLY.

2. BAW PROPERLY AT MAREED LINES.

3, WASP AYD FILE THE SAWED SURPAOES SMOOTH TO MAKE THEM PIT
TOGETHER EXACTLY IN THE HEQUIRED ANGLE.

4, BCREW (NAIL) THE TW( PIECES TOOETHER.

5. MARK THE CORNER PI1EGE, WHICE HAS THE SAME VIDTH AG THE EATTEN.
LEXGTH BETWEEN A AND B NOT LESS THAK 1", R = 1" ALTERNATIVELY,

6. REMOVE EXCEGS MATERIAL BY BAWING. THEN RASP AND FILE TO
FROFER BEAPE OP BEND.

7. GOREW(MAIL) THIE COENER PIECE INSIDE THE BATTEN ANGLE.

B. C(HEOK ALL OVER AND GIVE FINISHING TO THE JOINT.

partt ol ‘
METER RULE, TRY BACK SQUARE, Siw, PASP AND SMOOTH FILES, EAMMER,
BEWCE BOOK, SCREW DRIVER,

- EP2.3/3.53/3
CEILING OR CORNER BATTEN JONT o

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING

AR GERMAN TECHNICAL TRAINING PROGRAMME fae =]




SEQUENCE OF
OPERATION

JAELD

MARK BOTH PIECES THOROUGHLY. SLOT OF
I"AI."!"IISIEHI‘IIIIBHHBPMEMD
ITE DEFTH 16.BQUAL TO HALF THE THIQE-
NESE OF THE BATTEN,

BAW PROPEHLY AT MARKED LINES,

RASF AND FILE THE BAWED BURFACES

TC MAKE THEM FIT EIACTLY TOGETHER.

SCREVW (WAIL) TEE FIECES TOGETHER.

MARE THE TWO CORNER PLECES AS TOU IND
IN PREVIOUS EXERCISES.

IB\GFE EXCERS MATERIAL BY BAWING.
- WMHEN PROPER SHAFE

V. SCREVW (NATL) THE TWO
QORNER PIECES INSIDE
THE BATTEN ANGLES.

8, CHECK ALL OYER AND
GIVE FINIBHIRG TO THE
JOINT.

JOINT 2
1. MARK ALL PIECES ACCORDING TO THE
DRAVING. R = NOT LESS THAN 17,

2. BAW FROPERELY AT MARKED LINES,REMOVE
EXOESS MATERIAL FROM BEND.

3, RASP AND FILE BAWED SURWACES 70
MAKE THEWM FIT EXAOTLY TOGETHER AND
MAEE PROFPER BEAFE OF THE BEND.

4. gsggmgfn-) ALL POUR PIECES

e mm————-——

%

5. CHECK ALl OVER AND GIVE FINISHING
70 THE JOINT.

20019
METER RULE, TRY BACK BQUARE, SAW, RASP AND SMCOTH FILES, EAMMER,
BENCH HOOE, SCREW DRIVER.

EP2.3/35.3/4

"T"BATTEN JOINTS

OEVELOPMENT CELL FOR SKILLED LABOUR TRAINING

BAM - GEHMAN TECHNICAL TRAIMING PHOGRAMME

— T e T T, —



SEQUENCE OF DPERAT 10N

THE CHOBS BATTEN JOINT 15 SIMILAR 10 THE *"=JOINT BUT CONPRI-
SES OF TwO EQUAL PIECES IDENTICAL WITH PART 1 IN THE “T"-JOINT.
1. MARK THE TwO EQUAL PIECES THORUUGHLY. (ONE SLOT EACH AS IN
PART 1 OF THE "TT-JOINT EXERCIEE].
2+ BAN PROPERLY AT THE MARNED LINES,
5. RASF AND PILE THE BAWED SURPACES TC MAKE THEM F1T TOGETHER.
4. SCREW (MAIL) THE PIECES TOGETHER.
5. BELECT TYPE A CRF B OF CORNER FIECES AND MARE THEM AS
YOU DID IN FREVIOUS EXERCISES.
6. GAW ARD PIL. THE OUORNER PLECES PO SIZE.
7. BCREW (NAIL) ALl GCRNER FIECEG IN THE BATTEN ANGLES.
8, CHECE ALL OVER AND GIVE PINISHING TO THE JOINT.

ToCLE

METER RULE, THY BACK SQUARE, BAW, RASP AKD EMOOTH PILES, HAMMER,
BENOH BOOE, SCUHEW DRIVER.

EP2.3/3.53/5

CROSS BATTEN JOINT

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING

ﬁ PAK . GE HmAN TECHNICAL TRAINING PROGRAMME _

g




PART 1.2
' - P&RRAT 3«4

=

——— —— o — i

_T\
e b r

SEMUENCE OF OPERAT IO

THE BRIDGE-JOINT IS BIMILAR TO TilR CROSE-JOINT VITH TEX
ADDITION OF THE BRIDGE PARTS MO, 3, N AND 5.
NO OORNER PIECFB ARE HOWEVER ReQUIRED WITH THE BRIDGE-JOINT.
1.-4, A5 YOU DID IN THE CROBS-JOINT EXERCIEBE.

5. MARK FPARTS 3, & AND S5 THORCUGHLY. *

6. BAW AND FILE THE PIECES TO EIZE.

7. JOIN ALL PIECES TOGETHER ACCORODING TO YOUR DRAWING.

8. CHECK ALL OVER AND GIVE PINIGHING TO THE JOINT.

A T B ABOUT 2¢
A TO € ABOUT Trav

TOCLE AS IN PREVIOUS EXFRCIBES.

EP2.3/2.53/6
Wood Work

BRIDGE BATTEN JOINT

ELECTRICIAN
GENERAL

$ DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING

Pan LFHMAN TELHMICAL [HANING HEOGRAMME __-

&l




-
-
e
-y

i

MATERIAL

1 KIT EAT (FUSE) 15 AMP,
1 KIT KAT (FUSE) 5 AMP.
% SINGLE POLE SWITCHES.
1 GOCKET 3 FIN 15 AMP.
1 GOOKET 5 PIN 5 AMP.
2 BATTEN LAMFHOLDERS
& WOODEN BOARDS &"x7*
% ROUWD ELOCES
PVC OR Y.R. WIRE 1/.08a

®)
Lo

J
)
[

1200

¥

-3
50—+-—250—=—— 250

a1 /] PYO OF V.RE. WIRE 7/.029
- ACCORDING TO THE TYFE
d OF INSTALLATION
£ SCREWS, OLAMPS, NATLS,
2 : _# BATTEN MATERIAL.
=]
= |
£ BATTEN WIRING .
» df %
‘ f

' +|5'0—|50+2'oa«q-—309—- 100 =

L = INLINE JOINT (STRAIGHT JOINT) D = OEILING OR OORNER JOINT
B ="L" JOINT E = CROES JOINT
¢ «''p" JOINT F = BRIDGE JOINT

ERIAL 1RED POR THE rm'mm
Em M}fﬂﬁm TAYOUT, WIRINO - AND CUERENT FATH
DJIAGHAME OF ABOVE INSTALLATION
15 Ai? CIRCUIT: CONTROL-LAMP l’m T0 THE BOCKET,

OONTROGLLED BY A SIRGLE mi EWITCH.
5 aMp, CIRCUIT: ORE LAMP AND ONE SOCKET EACH ONE CONTROLLED
80 A BIKGLE POLE- SWITCH.

CHECK AKD cowwEcr SUPPLY 1 PRESENCE or TOUR [NSTRUCTOR,

EP2.3/3.63/

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING ELECTRICIAN
VAWK GERMAN TECHMICAL THAINING PROGRAMME i | GENERAL

.z




SEQUENCE OF OPERATION

1. HARK BOTH CASING PIECES BQUALLT AND THOROUGHLY. L!}'Em
BETWEEN A AND B ABOUT 2 1/2° - %" OR ANGLE ABOUT 1B, *

2. BAW PROPERLY AT MARKED LINES.

3« PILE THE SAWED BUYPACES SMDOTH TO MAXE THEM FIT ERACTLY
TOGETHER .

A. SCREW (NATL) THE 7w0 PIECES TOGETHER,

5. MARK BOTH CAFPING FIECES BQUALLT IF 45° ANGLE.

6. BAY PROPERLY AT MARKED LINES AND PILE GAWED SURPACES
BHOOTH TO WANE THEM PIT EXACTLY TOGETHER.

;. BCREY OAFPING PIECES OW TOP DF CASING FART,

. CHECK ALL OVER AND GIVE FINISHING TC THE JOINT.

o0l

METER RULE, TRT BACY SQUAKE, SAV, RASP AND SMOOTE PILES,
BAMMER, BENCH HOOK, BCREW DAIVER.

INLINE OR STRAIGHT EP2.3/3.53/8
CASING AND CAPPING JOINT Wood Work
DEVELOPMENT CELL FOR SKILLED LAHOUR TRAINING ELECTRICIAN
ﬁ PAR GFHwAN TECHNICAL TRAINNG PROGRAMME -

GENERAL




PART 3s4

SEQUENCE OF OPERAT ION

1. MARK BOTH CAGING 1’11—:-:.:5-‘: THURUWGHLY . GAWING ANGLES PCR UPPER
PARTE OF CASINGE = &5,

£« SAW PHOPEHLY AT MARKED LINES. HEMOYE EXCESS FATERIAL, UPPER
PORTION FROM PART 1, LOWER PORYION PROM PART 2.

. ifEIl.l: THE JOINING BURPACESD SMOOTH TO MAKE THEM PIT EXACTLY
TOLETHER . =

#, HCREN (NAIL) THE TWO PIECES TOGETHENK. -

S« MARK THE CAFFING FIECES THOROUGHLY IN AN ANGLE OF 45°%.

b. GAW PHOFERLY AT WARKED LINES AND PILE BAWED SURFACES BMNOTH
TO MAKE THEM PIT EXACTLY TOGETHER.

7. GOREW THE TWO CAPPING PIECES ON TOP OF THE CABINGE,

B. CHECK ALL OVEH AND GIVE PINISHING TO THE JOINT.

j‘D'JLH.
METER RULE, TRY HACK BQUARE, GAW, WALF AND GMOOTH FILES, HAMMER,
BENCH HOOK, SCREW DRIVER.

EP2.3/3.5.3/9
Wood Work

"L CASING AND CAPPING JOINT

Far ik HMAN TECHNICAL THANING FROGRAMME _

@ DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING




i

\

(BRI

SN_PARTS 148

[~—__ PART 1

f -\‘\ PART B

SCQUENCE OF OPERATION

1, MARE ALL CASING PARTE ACCORDING TO THE mﬁm. FARTS WO,
5, 4 AND 5 ARE TO DE SPAPED 50 THAT THEY PILL THE COWNER

PHREGISELY o

2. Sa¥ AND PILE ALL FARTZ 70 HARE TREM PIT FLACTLY TOUGETHER.

4, JOIH ALL CASING PARTS.

G, MARN, SAW AND PILE CAFPING PARTS ND. 6 » 7 ARD 7IT THEM TO
THE CASING.

5. PREFAHE CAPTING TART NO. 8 AND PIT IT. THIS REQUENCE OP
FLITTING ENAULES YOU TO MEMOVE PAPT NO. 8 EAS1LY FOR CRECNING
ARD REPAIR OF THE WIRES.

. CHECK ALL OVER AND GIVE PINTSHING 7O THE JOINT.

T00LY
METER AULE, TREY BACK SOUARE, SAW, RASP AND SMOOTH FILEG,
HAMMER, JENCH HOOK , SCREV ORIVER.

EP2.3/35.310

CORNER OR CEILING CASING

AND CAPPING JOINT Wood Work

DE VELOPMENT CELL FOR SKILLED LABOUR TRAINING

FAX Gf RMAN TTCHNICAL TRAINING PROGR AMME -




FEIEW EER R EET RN D @ EETRW

TEROTT EREERTEETEEwER AN R RS OW ETE W W

SEQUENCE OF OPELRATION

y '

2.
5.

:

7.

- MARE BOTH CASING FLECES THOROUGHLY ACCORDING 70 THUE DRAWING.

L =« WIDTH OF CASING, T « WIDTH OF PILLET.
HAW PROFERLY AT MARKED LINES AND REMOVE EXCESS MATERIAL.
FILE THE JOINING SURPAGES BMOOTH PO MAKE THEM FIT EXACTLY

TOGETHER .

JOIN PART 1 AND PART 2.

MARK THE CAPPING PIECES PART 3 + & THOROUGHLY.

AW PROPERLY AT MARKED LINES ANI PILE BAWED BURFACES SMOOTH
TO MAKE THEM FIT EXILOTLY TOGETHER.

BCREV THE CAFPING PIECES PART 5 + & ON TOUP OP THE OSPERTE,
OHECK ALL QVER ARD GIVE PINIGHING TO THE JOINT.

08

METER RULE, THY BACE GQUARE, BAW, HASF AND SMOOTR FILES, MAMMER,
BENCH BOOK, BCREW DRIVER.

ER2.3,353/M
Wood Work

“T"CASING AND CAPPING JQINT

DEVELOPMENT CELL FOR SKILLED LABOUR TRAINING

WAK GE HMAN TELHNICAL [RAINING FROGRAMME _—'




PARY 4.5.8.7

10 THE IR Bt g
T0 T BUT PART KO.1
I5 TO BE CUT ON BOTH SIDES
T0 JOIN FARTS BO. 2 AND 3,
A& EQUAL CAFFING FIECES ARE

TC BE USED TO OCVER THE JUINT.

SEQUENCE OF OPERATION

1. HARK THE CABING FIECES ACCONDING
TC THE DRAWING. PARTS WO, 2 +» 3

ARE EQUAL.
2. 3. AND &, AS YOU DID IN "7 JOINT
EXERCIGE.
5. MARE ALL FOUR CAPPING PIECES BQUALLY IN AN ANGLE OP 45°,
6. GAW FROFERLY AT MAREED LINES AND FILE SURFACES SMOOTH TO MAKE

THEM P1T EXACTLY TOGETHER.
7. BORFW ALL PR CAPPING PIECES ON TOP OF THE CASINGS.
B. CHECY ALL OVER AND GIVE PIRIBHING TO THE JOINT,

T00LE .
METER BILE, TRY BACK SQUARE, SAW, RASP AND SMOOTH PILES, HAMMER,
BENCR HOOX. BCREV DRIVER.

HOTE =x = WIDTR OF CASING.

EP2.3/3.5.3/12

CROSS-CASING AND CAPPING JOINT




S TS e I
"rf
S
e
[ v T
I——'I‘ J
PART 10510
PRRT 4,5

BOTE:
XeABOUT 27
Y=ABOUT 3=i"

(SAME FPARTE
BAME SIZE)

THE SRIDGE JOINT
18 EQUAT IO TRE
CRCSS JOINT WITH
THE ADDITION OF THE
ERIDGE PANTS. THERE ARE

TWO DESIGNG ONE FULL OR
DOUBLE HRIDGE JOINT AS SHOWN
ABOVE ANU ONE THE MOST USED
SIMPLE BRIDGE JOINT VITHOUT THE
-::ppmfunngir.pun 2 17 IS ussgugn
= 105518 . PATH OF CASINGS, E
SEQUENCE (F 15 KL30 HO NEED OF GOVER JOINT.

OPERAT 10N

1e =4. A5 YOU DID BEFOME IN THE CHUES JOINT EXENCISE.

S« MARE THE BRIDGE PARTS NO. &, 5 AND & AOCCRDING TO THE DRAVING.

6. GAW AMD FILE PROPERLT TO SIZE.

7. JOIN THE PARTE MO, 8,5 AND & TC THE PARTS MO, 1,2 AND 3 IN BUCH
A WAY THAT PART NO. 6 IS CROGSING FART NO. 1.

8, MARK, CUT AND FILE THE CAFPING PARTS PROPERLY. SAM, A5 GHOWN 1N
TIE fmum;. A SHALL SLOT ON TRE BEGINWING AND OM THE EWY OF
TRACT Y, 30 THE CAFFING PIEGES GAN BENT IN SHAPE OF PARTES NO. L
S AND 6. THEM PIT TO PHC CANINGS.

Y. CHECK ALL OVER AND GIVE PINISHING TO THE JOINT.

X3
METER RULE, THY BACK SQUARF, SAW, RASP AND SMOOTH PILES,
HAMKER, BENCH HOOK, BCHEW DRIVEHN.

EP23/353/13
BRIDGE CASING AND CAPPING JOINT ===

Pax G AN TECHMICAL TRANING PROGRALME -

% OEVELOPMENT CELL FOR SKILLED LABOUR TRAINING







